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QUESTION 1

Users report that CIFS transfer speeds from a domain member server are much faster than from a domain controller.
The Current Connections report confirms that connections to the domain controller show a red warning triangle. What
configuration steps are required to resolve this issue?

A. Domain Controllers should not be used for file sharing as they are always slower than domain member servers.

B. The server-side SteelHead should be joined to the domain in Workstation mode, enable CIFS SMB Signing and
Transparent Mode.

C. Both the client-side and server-side SteelHeads should be joined to the domain in Active Directory Integrated mode.

D. The client-side SteelHead should be joined to the domain in Workstation mode, enable CIFS SMB Signing and
Transparent Mode.

E. The server-side SteelHead should be joined to the domain in Active Directory Integrated mode, enable CIFS SMB
Signing and Transparent Mode.

Correct Answer: C

QUESTION 2

While looking at the Current Connections page on a client-side Steelhead, you noticed that there is more CIFS traffic on
the WAN than on the LAN for some connections. What may be the problem? 1) The source data is compressed or
encrypted 2) File server not located on the same subnet as the server-side Steelhead 3) The Steelhead is counting both
CIFS optimized and unoptimized traffic 4) CIFS read-ahead 5) CIFS write-behind

Al 4

B.4,5

C.1,2,3

D.1,2,5

E.3,5

Correct Answer: A

QUESTION 3

The Group ID (GID) links which two policies? (Select 2) A. Optimization
B. Acceleration

C. Installation

D. Endpoint

E. Assignment
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Correct Answer: BD

QUESTION 4

The alerting threshold for CPU utilization is 70% and the reset threshold is 50%. Which of the following situations will
result in an alarm being triggered? (Select 2)

A. Initial utilization of 30% becomes 75%

B. Drop from 90% of utilization to 70%

C. Initial utilization of 73% becomes 90%

D. Drop from 75% of utilization to 48% and shot up to 68%
E. Drop from 75% of utilization to 48% and shot up to 78%

Correct Answer: AE

QUESTION 5

-- Exhibit

Reports » Netwarking » Current Connections @
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-- Exhibit -Refer to the exhibit. When USER1 tried to map shares to Server 1 and Server 2, he got the results shown.
What does the report represent? (Select 2)

A. The connection to Server 2 is optimized. The performance should be good.

B. The connection to Server 2 is optimized, with errors, the performance should be poor.

C. The connection to Server 1 is optimized. The performance should be good.

D. The connection to Server 1 is optimized, with errors, the performance should be poor.

E. The connection to Server 1 is not being optimized.

Correct Answer: AD
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